§Ufw\9 & ?Fo&uu’l‘s

' Zae(‘) @)+ £ + ... +L0b)

b

. TUSE) = ) -$G+)- . £

l=oc

| ZC’JF[L) = C er(b) (Jl?‘l"(:bu{\“\/e)

A

b

b
. Fcf(t) = C]MH-l [ [ $¢) (L;a,)

=0



L

L

. Z[’f[‘)‘f'ﬂ(‘)] = 25&) + Zj(L)

7:["%(&)-3(::) = T80 Ty
Example - 2(35—5)2 iBi — 2“_6

L=/

9(9«&/‘[2{5!@ Suame = 3;’/ T L’%—/_ 5

- 3n(n+) _ 5p,
2

- —
—~

Cambfw&



Cow\h'm‘ﬁ Fai s in nested loolas

‘@ $5=0
.\/j.v. for ¢ m range (l, rH-l):
v jéar C’ m r‘ande (i-l-l, ﬂ+l):

8 = 54|
>¢ 5"‘ 4 (nes{ecl Sum)
1=\ J:iﬂ




5na Kes & Ladders

Snalke : head > tal

Fros.' No ‘telfn kl'y_lj Fco‘%ifccl_,

cong§: Placcmafnt c} §naKe$ Zz
Radders so Bt s nol
borirg :

T how /mow\7 ’Wajj can I flace one snaKe on

o board with n Squares ?



Pﬁan: /nqree 'wwtg Jco Co«m‘t sna (ke s

L a2 e

I) Addition rule-
2) Product  rule
3) Abs‘f"molﬁ“om

J

A S’nake IS M a Fa?r é Squafes ! In
DJﬂncr 'WWJS ) A SnakKes CD!/CF]QIMJ.S ‘l?: a Fa“\f %

Squares ; and o paiv %,squa.ra Carfcyronol t q cmale.
"There ave (;‘/) — ”(”2") »Pain




EXamﬁD,c : n= 6

e =2 cati == = .

5 4 3 2 1
# saakes © S+44+3 42+ | = izx_éz Iy
Geaevll n
1 | ,\ }' —(
N :)\ \\\ ¢ 4\
N \ - T
/‘ T //\ \\ \\ b= 1
[/ / ; - ( \5 - \
N-| n-1 L-\ 4




C=o0
Jor bead i (‘amgc Cl, vH-l):
j%V ‘tdé? tn ﬁaqjc<:|’ h&u{) .

Se— S+ |

n.o L-|
Zz_i = ‘l‘fj i‘& jausr.seeJi

L:\ j:[

n “ "

E (L_..,) = § UL Z_’L i “["”")__rl_. n(n-u
- .~ : 2

L= L=1 v=1

2
(“this was done aJ@Joer clafs)



# sakes = (- + (1-2) + - + 1

NN e
# Snakes 4 sokes #-srokes
‘W{*Hn hegd with head fud'b\ hege
On n on | own 2

(n SeJCS g Cna [KCJ

Wt‘\j did we add ? Read Gh 0 Section 11 on seb.

In,for(maug ) a se{: S IS a C'ollfc/‘(?ww f’:‘ﬁ %M

C,otch (C(mcm{'s . Of S IS J’iﬂ'ute lSl a‘c»«o{?c,(
H;s ! CarJimaQ[% ') “Wl'lic,‘/) IS ’Ule # CIEM€M+J In It.




AAA«(&'(W\ Rulg: Given K Sete ; S, 53y -, Sk
M are fai/WiSC AQ]O;V\‘: ) ’tﬂne “7’{7»@
4 e(emcwh Ya ’Ii@)e?r union (¢

11 +1S2| + - 1'\.9#‘ = kz \sil
(=l

T Qave [0 Huc and 5 red Camdieg 1 Qave (0 Hue and 5 Sc,uara CanJu'c;

O(fcff

oo
‘foocﬂosa"‘p by X
ke g

P&J‘oin{:
btd) = 1045 = 15




Ansther way to covnt smal<es

N 7; Cay,;i’ Swe% M&Mﬂ ZZIK
o fwmz‘e, eye ﬁw/é safzome. ¥

4

ﬁ)ﬂc«ch: n=4 : ;
—

1. choosse a rc’uare

2. G/qooye anb’ga&’ $7u.af6 .

4x3 = 12

o=
) r}\_x ALY !




ProJth ru@e i Ij a ’[:akk ConsisTs § < f&ases
and eac,@\ f)e\a_(e L can be dove in o ?uwjxé
regarJ lecs %{’ oAbe— /f:hafcs , then the Lt
tasls can be carried. ovt i

K
- A AN 1!__('_0(.; Ways

Epr/e : denefa/{n‘g a Snafle Cam;s‘lr # + o ,quaueg.
- thue 1 @n be doe m o) = 4 Wﬂﬂe‘
- Pl’ﬂ&e 2 Gn be done in ¥, = 3 Way/l

CF eﬂ ard less %L -P}uue J.>



Bw{/’ 'u)LS don't we Dave 4x3 = |2 ,ma/‘i’es?
4> Bccause }E&C cheo/um merwunb“ .l

For e)(zw’l/) ‘6 (l, 2) and CQ,[) V‘C‘Drc_(cnt the
Same Smale. jIJ ﬁfa&tJ evcg tnafle is
counte] cmd:% Fwice. .

ﬁ{)Mhﬁ fa\/ overcout 423 = 6

j:’t/S 3000' ‘\'0 O\chodnt {:( jox) k.nau) Iy E)ovu/ /MIAC@\



CDUw";f:'l] Snal’\'éj ﬁr GCwet/‘a.Q V) LLS(;:? :Pfoclud' (‘b{eﬁ:

1. Choote a Sa’uare ...... n 'wa%
A - Otwose am’h’her S7uwxe L n- | ’u}auj,d

n(n- l)
EJLJ/L snalke is wvnteol eﬁad'% ’fwfce,
(a, b) and. Cb, &) are “Phjsimeé ] Jd’fﬂmwt
but eﬂ,w;\/aeen't i Our Seﬂﬁé{ .

ﬁ So dFsmfes = 9(2“)

['I/Uim PfDoLw’t m@:) &J\erfor D\/ef"(,az)m—t 63 anj]



